Step 1


The first step in a hypothesis test is to specify the null hypothesis.  The null hypothesis for this test is that during the week of October 2nd, gas prices are equal to $2.14 at all Speedway’s located in Illinois.  This can also be written as:

H0: 
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 = $2.14


The alternate hypothesis (H1) describes what will be concluded if the null hypothesis is rejected (Lind, 2005).   The alternate hypothesis for this test is that during the week of October 2nd, gas prices are less than or equal to $2.14 at all Speedway’s located in Illinois.  This is also written as:

H1: 
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≤ $2.14

Step 2


The next step is to select the level of significance. Otherwise known as the level of risk, the level of significance is the probability of rejecting the null hypothesis when it is true. The level of significance is designated by the Greek letter
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.  For this test, Team C decided to use .05.  In other words, Team C will be 95% sure of our findings.  

Step 3


Step 3 is to select the test statistic.  The test statistic is a value, determined from sample information, used to determine whether to reject the null hypothesis (Lind, 2005).  For this test, Team C is using the t distribution for the test statistic.  This will be used because Team C has a smaller sample size and the standard deviation (
[image: image4.wmf]s

) is unknown.  The sample size for this test was 25.  The mean price of gas at Speedway for the week of October 2nd, 2006 was found to be $2.209 (Illinois Gas Prices, 2006).  

Step 4


The next step in the five-step process is to formulate the decision rule.  A decision rule is a statement of the specific conditions under which the null hypothesis is rejected and the conditions under which it is not rejected (Lind, 2005).  Since Team C’s alternate hypothesis states a direction, a one-tailed test of significance is needed.  Based on the decisions made in steps 2 and 3, the decision rule will be based on a .05 critical value and 24 degrees of freedom.  Therefore, the decision rule for this hypothesis test is to reject the null hypothesis if the calculated value of t is greater than -1.710882.  

Step 5


The final step of this process is to make a decision.  The calculated test statistic for this hypothesis is                 
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